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Part | : GENERAL MENTAL ABILITY TEST
Part Il :Language Comprehensive test
Part lll : Scholastic Aptitude Test

Part | : Time 45 minutes Max marks : 50
(For Physically Challenged group 60 minuts)
Part Il :
Time 45 minutes Max Marks 50
(For Physically Challenged Group 60 minutes)
Time 1% hours Max Marks 100
(For Physically Challenged group 2 hours)
INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you
answer the questions. Answers should be given on

a SEPARATE ANSWER SHEET :

1. Please write your Centre Code No. and Roll No.
very clearly (only one digit in one block) as given
in your Admit Card. No block is left unfilled
and Zeros appearing in the Centre Code No. and
Roll No. are correctly transferred to
the appropriate blocks on the booklet and on the
Answer Sheet. For example, a student
appearing from the first centre of Lucknow for
(Centre Code No. 0042) N.T.S. with Roll No.
7 will make entries as below :

T PR b e e ST::?fi’T'EB ST State Code Year Centre Code Roll No. in Figures
GI]  [Tel [zl [el7] B [IE] [lelslz] [o]dI7]

qfasy A e B A B BrS WXAT qAT
I[HHID ) B1 S MU Fae-uA A sifdd & |

Your Centre Code No. and Roll No. shall

remain the same as given on your Admit Card.
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1.

12.

This test booklet is divided into three parts, Part |
contains 50 questions of General Mental Ability Test.
Part Il is Language, contains 50 questions each of
Hindi and English comprehensive Test in which
candidate is to attempt enly one language paper
either of Hindi or of English.Part Ill contains 100
questions of Aptitude test, all the question is to be
attempted.

All questions carry one mark each.

Since all questions are compulsory, do not spend
time in reading through the whole question paper
before beginning to answer it.

Begin with the first question and keep on trying
one question after another till you finish it.

If you do not know the answer to any question, do
not spend much time on it and pass on to the next
one. If time permits, you can come back to the
questions which you have left in the first instance
and try them again.

Since the time allotted for the question paper is
very limited, you should make the best use of it by
not spending too much time on any one question

Blank pages have been provided for rough work at
the end of test booklets.

Remember, you have to mark answer on the
separate Answer Sheet.

Answer Sheet has three specific part ie. Part | Part
Il and Part Ill Candidate is to answer the question
of Part | (General Mental Ability Test) from serial no.
01 to 50, Part-ll (language Comprehensive Test)
from serial no. 51 to 100 and Part-ll (Aptitude test)
from 101 to 200.

Answer to each question is to be indicated by
writing the number of the correct alternative in the
answer sheet in the box provided against each
question. F

Immediately after 45 minutes (60 minutes for
physically challenged group) you should start
attempting Part Il language comprehensive test
and immediately after 45 minutes (60 minutes for
physically challenged group) you should start
attempting part Ill Aptitude Test.

. Now start answering the quesﬂons.‘

A 30 uE yReat 3 Bre weEn i a1 X6 e @ AR &€ N @o N« g
N.B.

: Do not write anything except the Centre Code No., Roll No. and rough work, anywhere in the

booklet.




GMAT - 2018
grs — | (Part - 1)
W AERE ggar gdEer

General Mental Ability Test

fader : ye 16 I% Y% U § AR ug £ | Direction : From question 1 to 6 each
g ¥ 9 gg fedl 9 f&0 wu A v waE question has four options. Out of them three
® 3R TP ‘:rq* I Al | AT R .GHJ il options are alike and one is different from three
=1 ug @1 Bifed ik Su fAbey e &

A\

: ! others. Find out the correct one which is
3 I} UAD YR Bl U HEgT B GEA

different from rest of the three—

forRaa—
1 (1) I 1. (1) Red
(2) AralT (2) Yellow
(3) W \/({) Pink
(4) A (4) Blue
2. GIMR
2. (1) GIMR ﬂ
(2) KMPT
(2 KMPT
(3) JLOS
3y JLOS
(4) DFIM
(4) DFIM
3. (1) Rajya Sabha
3. (1 (2) Legislative Assembly
(2

) I
) faerrs
(3) @
)

(4) watea ATy

(3) Lok Sabha
M4~ Suprem~ Court

4. (1) 2401
4, E1; 2:21 () 625
2
095
(3) 4095 el
L (4) 1296

PNP-NTS-2018 (3)

Contd.




; B|F|L
©

.« |E|e|0

1 2, T4

frder: ys9 6. 7 9 12 § 9% # IR UL € | Direction : Question 7 to 11 there are four
Hg - - & I} AR B a1 gal § S g @ | terms/figures in each question. The terms right

TR T ;B e .~ to the symbol : : have same relationship as the
e 4% SR B < ol A two terms of the left symbol : : Out of the four

2| yde U H TP US g@ & R U¥TATaS tgrms/figure one is missing, which is shown by
(?) fore & < 7 ¥ | W% W B I AR (7). Four alternative are given for each ques-
Rieeg Ry T ¥ w8 Rdcy o TR IHDH! tion. Find out the correct alternative and write
v TR B T IR T TR ) W e & its number against the corresponding question
e on your answer sheet—

i 7. EHLP:GKPU::CGKO:?
7. EHLP:GKPU::CGKO:? .

(1) EKPT (1) EKPT
J2) EJOT .“{2) s
(3) FIoU (3) Flou
(@) FKV (4) FKPV

8. CEHI:5::FIUK:?
8. CEHI:5::FIUK:?

u@/) 6 A1) 6
@) 8 e
(3) 7 5. ok
(@) 4 @

9. ltaly: Lira:: Japan: ?

(1) g 5 B
(2) T (2) Kyat
(3) ¥ (3) Yen
(4) =1 (4) Taka

PNP-NTS-2018 (4) Contd.




10. 1290 : 6 : : 2394 : 7 10.1290 : 6 : : 2394 : 7

x [ =5 Eog el

2. 13 2; 13

3. 8 3. 8

4. 5t 4.7
1. U $Y : Fedrd ;1 SR P ¢ 7 11. Durandcup : Football : : Uber Cup: ?

1. TeH 1. Goff

2. SefA=H 2. Badminton

3. B _43. Hockey

4. 9TANG 4. Chess
12‘3331?:3?[12?%?[2? 12. Newton : Force : : Hertz : ?

1. Jgf / Frequency

2. Fd | 2. Work

3. e 3. Power

4. e 4. Intensity

frder : ys 9 13 ¥ 18 He&T / 3nFia & Direction : Question no. 13to 18 are based on
Sy o AEnRRd & | ude Aol # Ud /21 the number/figure series. One term is missing
7 o & | R we foe (?) @ zgifar 74T in each series which is indicated by question
3| ywi & R Y A 9R fAwedl § A G mark (7). Find out the missing term out of the
yg (Rea) Sira SIS o S¥ fAded W& four alternatives given below on questions and
gﬁ?‘? IR U3 TR FE U FE B W it that alternative number-

13.2,7,22, 67,202, ? 13.2,7,22,67,202,7

1. 609 1. 609
2. 607 27 607
3. 578 3. 576
AsEn2 4 498

PNP-NTS-2018 ()] Contd.




14. 3,6,6,12, 11, 20, 18,2, ?
1 2582
2. 36,30
3. 26,36

4. 30,27

15. 16,18, 21,23, 28,30, ?,?
1. 36,32
2.5 395387
3. 37,39
4. 34,40
16. 2, 9, 28, 65, 126, ?
1. 297
2, 196

3. 216

e o fioc

IR JMMp il

DOGOOCCCOX

PNP-NTS-2018

s )
14. 3,6,6, 12, 11,20, 18,7, ?

1.'5.25, 27
2. 36,30

3. 26,36

’}»./ 30, 27

; Q
15.‘16, 18?21.’23, 28,30,7,7?

1. 36,32
2. 39,37

V/af'37,39

4. 34,40

N
16. 2,"9728, 65, 126, ?

A 2
2. 19
3. 216

4. 226

Question Figures

{1 IO ?

j

Answer Figures:

YOQOCCOIOXC
1/2‘34

(6) Conltd.




USSP i Question Figures

18. 18.

A|NAINME AlNAVE

SR JArpfadf Answer Figures
NS A9 YA
1, SR e 7 L

frder : yse HeEar 19 9 23 ERl D fyf3z Directions : for Question No. 19 to 23 are
F7 W e &1 R A 1Ay # 7o based on definite series of letters. In the follow-
w9 Rag & R — ¥ gwfar 7 8| Yd ing questions some places are missing. Find
yeq @ +a A W AR fameai 4 ¥ T 1}fout the correct answer for every question-
Raa e @ fore R | w4 | A T 2

5y v |E fapoy P ygdE HIIT—

"19. -ER-F-R-FE-K 19 -ER-F-R-FE-K
(1) KEFKR (1) KEFKR
(2) EKFKR (2) EKFKR
(3) FKEKR 3y FKEKR
(4) FEREF (4) FEREF

20. ——K-W-KX-V-- ! 20. ——K-W-—-KX-V--
(1) WVXVWKX AWV XVWKX
(2) WXVWVXK (2) WXVWVXK
3) XWVKVKV . 3) XWVKVKV
(4) VKXWVKX (4) VKXWVKX

21. -—L-H-LO-UL- 21. ——L-H-LO-UL-
(1) OHUOHU (1)’OHUOHU
(2) HUOUHO 2y HUOUHO
(3) UOHUOH 3) UOHUOH
(4) OUHUHO (4) OUHUHO

PNP-NTS-2018 (7) Contd.




2. ——-M-1-MP-VM - 22——M-1-MP-VM -

(1) vPIPVI (1) vPIPVI
2) PVIPIV . (2) PVIPIV
3) IVPVPI (3) IVPVPI
@) 1vPviP LJg,}riVPWP
23, -HU=-1-U-IH=N 23 JHUHIEU=IH=N
(1) IHNUH (1) IHNUH
@ IUNOH 2 IUNOH
3) INHNU A5 INHNU
4 NHUHN 4 NHUHN

frder: uee 9. 24 9 28 # I8 & 7T P D Direction : In question no. 24 to 28 the equation
FHR YAl & FHIBRUT TTela 8B T & | UdD have become incorrect due to wrong order of
ye @ 1 f&d T AR fA@edl § 9 W 94 signs. Find out the correct order of sign

el el (fawed) o1 WIfTe R WARY (aiternative) from the four alternatives given
g B 9 iR 99 Ree ww@n o qud

FIR-F R e U W@ 3 are . flked— i
24 15-3+5x12=13 24.15-3 +5x12 =13
(1) x—%= (1) Xx—+=
) +x—.= L Fx-=
(3) -x=+ 3) —x=+
(@) +-x= Tkt
25.3+4-6x13=5 25.3+4-6x13=5
(1) x+-= cy/}“_: £
@) +-x= @) +-x=
3 - +x= @) - +x=
@) =x—+ @) =x-+

PNP-NTS-2018 (8) Contd.




26.12+4-2+3=7 @2+4 2+3=7

; : .
i e (PR
2 +=+- @(2)"4=+— )

@) —++= ' T
@) ++-= @ ++-=
27.24=8+3+4x13 27.24=8+3+4x13
(1) =+x= (1) =+x=
¢ (2) x++= .\_)%}’)H"*
(3) +x+= LR
@) =++x (4) =++x
28.3+5=2-8x9 26. 345 SR =0n e
(1) x+-= ‘ BT X
@ +-x= @ +-x=
() =+-x S
@) x+=- (4) x+=-

e g e 29 N 33 # e 19 23 A Direction in Questions 29 to 33 the letters in
ER) P B 117 Ghaid! @ w9 A ford T column | are coded in the form of digits, which
£ SiftpeT afp! @ W AT & | 3BT D Habaiap is written in the column 1. But the order of digits
Y e & Uiy 3k wAR g A 33 7 is different. Identify correct code of letters. Find
AP Y B SR D folg 23 T IR el out the correct alternative for each question—
¥ A 98 ey @ @Y 3R SHa! ww&n :

(Rrerea eEn) Y M STR—UT W el I

we @ A foalead-

HTEH | FTH 1 Column 1 - Columnu | _g
BLO 369 BLQ 369 5=
EPL 279 el 279 B =5
PJT 175 PJT 175 B0
IJNS 018 JNS 018 T ;s.
NLB 309 NLB 309 :
RTJ 451 - RYJ: 451

29, LJN 32 &1 Dre ol Blil— 29. What will be the code of word LIN-
(1) 713 - (1) 713
(2) 910 /{2)/ 910
(3) 610 @3) 610
(4) 817 | (4) 817
PNP-NTS-2018 : ©) Contd.




30. BTS g &I BIS T B8RM—

(1) 431
(2) 850
(3) 388
(4) 258

31. REP 1&g & ®ls &1 81—

(1) 437
(2) 671
(3) 527
(4) 427

32. OPS 9[&g &1 PIe T BIT—

(1) 678
(2) 873
(3) 708
(4) 362

33. LBT ¥I& &1 dle T BRMT—

(1) 369
(2) 935
(3) 529
(4) 365

30. What will be the code of word BTS—

(1) 431
(2) 850
[ 3)358

(4) 258

31. What will be the code of word REP-

(1) 437
(2) e71
(3) 527

ey a7

32. What will be the code of word OPS-

r)"'f 678

(2) 873
(3) 708
(4) 362

33. What will be the code of word LBT-

(1) 369
(A2 935
(3) 529
(4) 365

e ued 34 3 38 § G@IN U fagry fAT9 Direction: In Question nos. 34 to 38 are placed on

3 Rl # Q) A 2 | S U H U U1 B the basis of some rules. In each question one number
PG ﬁ‘,ﬂ?[ ﬁqr—g ? awgﬁ‘q‘[

g e A3 \ (?) 9 Y TITIT is left vacant which is indicated by ( ? ). Find out the

2| Raw v & forw Ry 1 ar feedl # 9

¥ fardey WIvTT 3k 99 H&ar $I 31U+ ST
T YR GE 9 wear @ g ferfau—

34.
7 4 5 7
19 18
9 17

) 17
@ 19
3) 15
(4) 16

PNP-NTS-2018

correct alternative in each question—

(-n;i) 16

(10)

4 5 TN 9
18 ?
17 21

P

Contd.




35. 35.
6 4 5 8 9 6 5 8 9
3 10 ? 3 10 ?
8 4 6 8 4 6
(1) 8 (1 8
(2) 6 \/‘2‘)/-6
@ 7 @ 7
@) 9 @) 9
36. 36.
5 20
3 5 5 6 6 3 5 6 6
19 33 ? 19 33 ?
4 3 1 4 3 1

PNP-NTS-2018




38. 38.

6/ \6 6/ \6 9/ \8
7 7 9
g 9 10
(1) 9 (1) 9
() 7 (2) 7
) 8 (3) 8

39, Y P AR Wb PR gV T Heal & 39. By pointing towards Umesh Gita says that

o Y gigr he is the grand-father of my elder son
% A5 A G b Remesh. What is the relation between Gita

@1 AT A R G B and iimesh=

(1) e (1) Brother in-law (7 T
_ R

(2) foar - (2) Father

(3) \_Q/Uncle (Paternal)

(a) #T (4) Uncle (maternal)

4.0, P& ¥84 8| R pt—ﬁ} frar 21 T R @ 40. If Olis the sister of P, Ris the father of P, Tis
w2 A OB T @ e Ve the sister of R. What will be relation between

Oand T -
(1) 9o ' L/mﬂnty (Father's sister)
(2) @& . @ sister
@3) Ao _ (3) Neice
(4) g‘aﬁ (4) Daughter
PNP-NTS-2018 (12) ; Contd.




R T Tl s wc it o e BRI s T e S D S o L L TR

frder: yv T&T 41 ¥ 45 FrfaRaa @A Direction : Question no. 41 to 45 are based on
R SR ¥ | T P A § Uf$d AT the informtion. Read the information carefully
g e @ A1 A T IR fawed! § W 5ng find out the correct alternative for ead:

frped @) SITd DI 3R 99 e &1 J&n
BT I SR U UX WEl ¥ e & |

ferRaa—

question—

R has four brothers named S, T, U and V. b

o — R® @R g ] S, T, U 3R v &] which T is elder than U, but younger than S,3
Rrgi ¥ T U g1 & ofT S BIST 81 is elder than R and T, but younger than V, R
S,R 3R T¥ o1 2 Afdb V# BT £1 R, U gider than U, but younger than T.

J g1 & dfh T ¥ BICl & |
1. 399 g9 991 DI B
(1) v

@ R

@ T

) s
42.3?[13:1’1’@?’{9‘!31%%—

(1) S
@T
(3) R
(4) U
43. 39 Q 49 § B 8-
(1) 8
@T
(3) R
ORY
4. T A FW W TR HH W BIF 8-
(1) R
@ T
(@) s
(4) U

45. 3T A A W TR HH W DI 8-
(T
() R
OR
(4) S
PNP-NTS-2018

41, Who is the eldest among them—
¥ ;
R

(2)
@ T
(4) s
42. Who is the youngest among them-—
(1) s
T
@R -
ayU

43. Who is at the middle order among them-

(1) s

- T
(B3) R
() v

44. Who is at the second from top order amor”
them—
(1) R
@T

s
(a) U

45. Who is at the second from bottam or¢
among them—

(1T

(13) ; Cor




46. Afe it w18 1 AT AFAR 2247 3 8, 46. If the fourth Saturday of amonth is 22nd days

o #fEs @1 134 o = | B- then 13th day of the month will be which day-—
(1) TR (1) Tuesday
(2) gaar (2) Wednesday
(3) gewfaar J}k’l‘ hursday
- (4) fEr (4) Sunday
47. 9f2 15 fRGaR 2008 B YHAR o Gl 15 47.1f on the 15th September 2008 was-a
RIGRR 2000 &1 B AT 27 Bri— A ggg?eymg:regosvgiich day will be on 15th
8 ﬁ (1) Sunday
. ida
(3) gewufdar fmur:day
(4) @far (4 Saturday

48. fe=191 &1 B IS Tl | g1 fHH) gféyor 3 48. Dinesh home is two Km. South from his -
2 o 9 F7 R Ry P = A ) school and Satish's home is two Km. in the
‘I‘ff ¥ 2| o O BT ER B W Bpa e East from Dinesh home what wjll be the

I BT direction of Satish's home— E
(1) SR ufdem (1) North West ' E
(2) =feror gfdem (2) South West D

(3) SR yd : (3) North East I

(4) <feror gd Mth East

49. U fRT 4 fbd ‘ICT P 3R Toar 2, fisw 49.A man moves 4 km towards East. Then
3 fhd IR ) 3R Toar 2| o/ 98 a;gey moves 3 km. towards North. How far he is

g dTel I ¥ B g ) 8- from the starting point—
(1) 8 fah (1) 8 Km
(3) 5 fh (AT 5 Km

50. T @fdd 399 BX W SR @) 3R wi vgr 20-A person is going towards north from his
| R 98 I ot 8| R < gear @ home then he turns right and then turn to
Gﬁl'\’ fﬂ???;ﬁ g@m-% | za a frer foe 29 "ight, again he tums to the left. Now is which

3R I Y& 28— direction is he going—
(1) SR (1) North
(2) Tj (2) East
(3) =féror (3) South
(4) uf¥=am (A West

PNP-NTS-2018 (14) Contd.




LANGUAGE - 2017

gvs - |
A §tg qhEer
Y 45 PFe
(riR® &0 & T I 60 fre
il 3 fg)
it 50
wEia 3 fe e

1. W91 91 RO § 50 U RS Wy @
3R 50 T¥ IS 9191 @ & | spafefai @y
7 A Bael T &) W B ) gvEi B
&l BRAT 8, T AT R 99T & g9 &y ar
ar 3fuell W @ ugE 31| afe ey R
19T & YT BT TR <A1, 918d & df 9T
U3 B HH W 9 TR I g (0) 7 1
ford | afe amg SfUsh w9 & geAl @
IR QA1 T8 & dl 9% 93 D HH W0 9
WR g g (O) § 2 ford |

2. UF U B A4 A A R Rl §
el fAey 31 9T 3k v Ao @
& Bl STR—IF UR B U & B

q9a fafay |
3. 39 P UR™ BT

Part - Il

 Language comprehensive Test

Time : 45 minutes

(For Physically challenged .
group) : 60 minutes

Max. Marks : 50

INSTRUCTIONS FOR THE CANDIDATES

1. Language comprehensive contains 50
questions of Hindi Language and 50
questions of English Language. Candidates
is to attemp all the question of only one
language paper ie. he/she is to attempt
either Hindi language paper or English
language paper. If candiate wants to attempt
Hindi language paper, has to write 1 within
box ([]) at serial no. 9 and if he/she wants
to attempt English language paper has to
write 2 within box ([7) at serial No. 9 of hlsf
her answer sheet.

2. Find out the correct alternative amongst
the given four alternatives for each question
and write its number on your answers sheet
against proper question number.

3. Please start your work.

ST IJ D(‘ 'le. \J 1 DQL ¥ '—:30\'1 rfl-nh [\\1—, A‘P .F/\B’-—) F\,»\.—\ i
S SLS"/Q SITE §SONTWTES) Crior s [smywt rS | smiw] S fsom wyeds mer wif s|S M wi £5
16 17 14 1720 e,i szg?:\f)

7 Hfﬁ?éﬂzgﬂ”
g 30
b /
AT
ST~ 5 gRer A v Bl @ sfRaw @l g 7 Rifay | Ty Ay &p
CMTWIES SMTWIE s SPIWTES

N.B.- Do nol wnte anything in the booklet except rough work.

N;}" o M et




grg — ||

- fR=h
5155 : =1 fad T3 TenY P SATIYdS URRY AT WY HRAT 5155 TF B IR I TR
B YR TN ARY—

BN HEpTa # AN &1 a8t Hew 8 € | TN Rl w19 e ) @ ¥ | R et
o1 U4 fade @t siftrers wxeadt, i 9t st gt aik Vet @ arftrers @k
A T €S B A A S A ey wRdE S 3 o wvefy @ et fa
&1 9oy o B 4 A e & 786 | R Sfted @ drer 8, wR o A e argd
AfFTEl R 6 BN B forg oL B gsar @ @9 He B A A ST & ot
& DM BRI &, A o Rl § e 0t S & weff gr &) A Wl
IR AR T YGH &Il & o 98 Ry ¥ | 59 9% @18 amiiie wify 78 2, a9
d® UQ 8 For |

51. URId TN § AR @ f5E w9 B qoie =€ e mar 2—
(1) 99 vd fdas
(2) wr=d
(3) wfaa
(4). et
52. TN fbe BROT &/ S BT HY YR B AT -
(1) g9 ¥ & THA D forg
(2) wmifIe wifa & fog
(3) mgd wfewal @ <F @ frg
(4) ¥pfa & =9 & forg : |
53. 39 TN H AN B gaq Rafd Ay § Far dda femar -
(1) T @ oA Reafy saig @
(2) Y @ adae Rerfy Terew &
(3) R B gt Refy deaorer) |
(4) 1 Bt adw= Rafy fegwsry 2
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59. WIfIeNel o | B RN B §I—

(1) &9 1943 g0

(2) ¥ 1954 g0
(3) ¥ 1938 20
(4) ¥ 1936 30
60. BTITATS! Bfd BT B—
(1) SOTHR g
(2) s RiE fRmey
(3) sRaw @ ‘g==
(4) AfrefreROT T
61. 39 A DI AT T AiFadTe BT 2
- (1) geARTST ST
(2) W
(3) T
(4) IrERa A
62. ‘BRI WEIHIA B TAfar &
(1) e
(2) orieT™
(3) SO yuTE
(4) Rufa AreE
63. AT Ud Bl S fHH = R TG REPR Ao
OREEEN
(2)
(3

ool
) drom
(4) <repraaH
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64. ‘gavait fe faem & = 8-

(1) Su=™H

(2) sIe®
(3) wErl
(4) EBROT

65. ‘STEIT Ufd1 & FWIed -
(1) wRag sRvE=
(2) wamg ARIgor A
() TP g
(4) weRdt gt
66. T BB DI HEF D AP 8-
(1) o Fedor g
(2) ey et
(3) HerNg® <ol
(4) = areeT @t

67. BIATAIE! Bfd 8] 8-
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69. HEThfd ‘Fordiary fHa arT @ yfafAfy &fa &

(1) pomsi
(2) ImTsrh
(3) gHTsIAY

70. ‘YfaTaT @1 QX1 A B

7.9, ¥, W, T I Hg W g

72. STIfcarEd’ HST &1 SaTevy 8—

73. ‘GIATED A T8 -

PNP-NTS-2018 ‘ (20)
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R

?4.Wﬁa§ﬂ§3?ma@é%"wmﬁuﬁﬁﬂw%—

75. B BT ST 8—

(L ) AR ) | - [+ -

77. Xqof’ BT qaigarE) I 8-

(4) &Ror
78. ‘BR’ &1 e g T8 8-
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70. foban & Rore U @ I8 ue =t & fiban marar # o™t Bl arfl—and) wHra g8 2-
9 BT B BB 8-

(1) 3~ YPIA
(2) 3rqet T
(3) wfeer HgrbTA

(4) eqeqwg Wara
80. ‘AN’ U ATGH ST Gl e AT aTd B

(1) W arg

(2) s are™

81. AR’ 9 B—

82. ‘TR’ P ToHH BITI—

(3) uETS
(4) faftsat
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86, @1 UETS el gfEar drmifd P el 8-

(1) T=1 BB A 7E A T -

(2) @fdr uRem w0 B

(3) <Y e A

(4) oraeR Frda oM W gBarE @ B

PNP-NTS-2018 ' (23)
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87. ‘3TA T USAT HETaR I 3pef -
(1) =< TRt S
(2) srcafdre asf g
(3) sgd ulRsr| e
(4) o B
88. Y& Il ATCAT ¥k B—
(1) snfratg
(2) anf¥farg
(3) amefiarg
(4) amefaig
8o. fedTerd & v e & are # uyam W UK H BRS B-
(1) &4

(2) o

(3) sraTeT
ORI E

90. 3°fY A1 Hapge e o1 A |
gV &l Bl Boal @ B | |
g N A I T D e |
faet &1 g1 I wUTe ||
B B AT YEl AR |
g1 RwgR 3R | "
Sugad ufaeal # w9 8-
(1) 5T <
2) = =
(®)

U 39
(4) FHU I
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91.

s’ T BT AR 919 8-

(1)

) o

92.

93.

95.

(3) STarE

(4) fawmy

YAS IR § 16 HIFT AT, TR TRON BT GH AIS BT 2—
(1) e

(2) ®raT

(3) =g

(4) e

TROT HHA §al BN Ufdd § cieR -
(1) swr

() wu®

(3) IEm

(4) T

. N R H U ©—

(1) @

() &1

(3) am

(4) 3% & P T

et 3R yg S B IR TE .o B B
(1) w=i

(2) B

(3) ararer

(4) wrsgT
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gs.gw%ﬁ:zmww?—
(1) ¥dr=
 (2) v
(3) @
.o () TR
o7; g |9 ¥ gl U WEraTe Bl 2
(1) TgHY N
v (2) sreudY Wra |HTH
" (3) g W
(4) g 99
g8, ‘gl WfdT wex H HHNH B
(1) gl wIg FH™E
(2) TgwY wHE
(3) HHURT A
() FEAIRE wrA
99, NI =T TSB! & g § AYfE B
(1) s e
(2) M T
(3) fagmur =i
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Part -l
ENGLISH

51-56. Read the following passage and answer the question that follow—

Speech is a great blessing but it can also be a great curse, for while it helps us to make
our intentions and desires known to our fellows, it can also, if we use it carelessly, make
our attitude completely misunderstood. A slip of the tongue, the use of an unusual word,
or of an ambiguous word, and so on, may create an enemy where we had hoped to win
a friend. Again, different classes of people use different vocabularies, and the ordinary
speech of an educated man may strike an uneducated listener as pompous. Unwittingly,
we may use a word which bears a different meaning to our listener from what it does to"
men of our own class. Thus speech is not a gift to use lightly without thought, but one
which demands careful handling. Only a fool will express himself alike to all kinds and

conditions of men.
51. Speech can be a curse, because it can—
(1) reveal our intentions
(2) lead to carelessness
(3) hurt others
L/(é)'creat misunderstanding
52. A ‘slip of tongue’ means something said-
(1) unintentionally

L(Q,vﬁ_ongly by chance
‘ (3) without giving proper thought
(4) to hurt another person
53. The word ‘speech’ is—

(3) Adjective
(4) Adverb
54. What is the opposite of the word ‘educated’-
(1) iliterate
uneducated
(3) eneligible

(4) unstudious

PNP-NTS-2018 ' (27)
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55. While talking to an uneducated person, we should use—
(1) Polite language
(2) ordinary speech
Mis vocabulary
(4) simple words
56. If one used the same style of language with everyone, one would sound-
(1) democratic .
}Xoolish
(3) boring
(4) flat

Direction : (for question nos. 57-58) The following six sentences come from a paragraph. The
first and last sentences are given; choose the order in which the four sentence (PQRS) should
appear to complete the paragraph.

57. 1. When a satellite is launched, the rocket begins by going slowly upwards through the
ar.

As a result there is less friction
For the atmosphere becomes thinner

As the rocket goes higher, it travels faster

®» » P

However, the higher it goes, the less air it needs

6. Consequently, the rocket still does not become so hot.
(HRSQP (2QJRQPS (3)PQRSL}5)'PRSQ

58. 1. A man can be physically confined whithin stone walls.

P.  But his mind and spirit will still be free

Q. His hopes and aspirations still remain with him.

R.  Thus his freedom of action may be restricted |

S. Hence, he will be free spiritually if not physically

6. Soon you will realize that this is an exciting task

(1)SPQR (2)QRPS (3) PQRS (4)SQPR :
PNP-NTS-2018 (28) ' Contd.




Direction : (for question nos. 59-60) You are provided with the first and last parts of a sentence.

The remaining sentence is broken into four parts labelled (P), (Q), (R), and (S). You are required

to arrange these parts so as to form a complete meaningful sentence and then choose the

correct combination.

59.

P

60.

| was

and stay for a few days in Delhi

when my father told me

very excited

that | could go with him

(1)PQRS (2)QRSP &?ﬁQSP
Miiton said that-

those persons

would be damned

who do not obey

God's commands

M PQRS (PRSQ (3) QRPS
61-65

make the sentence meaningfully complete.

61.

62.

| will be leaving for Delhi tonightand ............
(1) Waiting
(2) Plan
(3) Going
Likely
Heistao.........:. to be deceived easily.
(1) Strong
(2) Modern

_(BrKind

(4) Intelligent

PNP-NTS-2018 (29)
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Directions: Pick out the most effective word from the given words to fill in the blank to

to return by this weekend.
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63. The Policehave ............... a complaint against four persons.

(1) Evtered
(2) Lodged"
k,(é‘)/Re'gistered
(4) Noted
64. Heisso............. of his own idea that he will not entertain any suggestion from others. |

(1) Enamoured

(3) Hopeful

(4) Jealous

) Enchanted ‘

65. Afterconsultinga............... of doctors he eventually thought of consulting a specialist.
(1) Chair : l
(2) String

(3) Mass
Wgearises
U

SB—Tﬂ Select the word which means the opposite of the given word-
- 66.  Nadir-
(1) Progress
; iberty
(3) Zenith
(4j Modernity
67. Knowledge-
(1) lgnorance
Q}}ﬂﬁteracy
(3) Foolishness
(4) Backwardness ,
68. Beautiful- _ - ' L
Ugly :
(2) Dark
‘ (3) Rough
 (4) Dity
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69. Appointment-

(1) Disappointment
(2) Suspension
[/(}) Dismissal
(4) Discharge
70. Humble-

(1) Dominant

L/(Z»)’lfroud

(3) Despotic

(4) Pompous
71-80. Inthe following passage there are some numbered blanks, fill in the blanks by selécting
the most appropriate word from the options given below-

Interviews are very important for all of us. We must face interview with confidence.

Thereis (71) any persons who at one time or the other has not (72) an interview situation.

While (73) are a day to day (74) for people (75) with others in their daily chores, we are here

g . (76) with interview situations when one is a (77) aspiring for an (78) such situations not very
] (79) happen in one’s life, are (80). When the candidate likes to come on top of the situation.

This calls for careful study and preparation.
71. (1) perhaps L}Z)’ﬁardly (3) probably  (4) possibly
72. (1)  known (2yfaced  ‘(3) measured (4) seen
73. JQ interviews (2) discussion;@)/meetings (4) seminars
74. (1) possibility (2) feeling L/(a‘ﬂﬁppening (4) ekperienge
' 75. Q)/ﬁneract (2) speak  (3) react (4) concern
76. (1) meeting concerned (3) involved . (4) interested
' i (1) beggar (2)candidate (3) person (4) student
78. (1) employment (2) eslimatior;,(&{élevation (4) establishment
79. Lp/frequent (2) happy (3) important (4) consquent

A 80 (1) minutes L}){imes (3) hour L/w)é::asions
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81-85 In each of the following questions out of the alternatives, choose the one -
word which is nearest in meaning to the given word.

81. Candid-
(1) Sincere
| /(Z)/Pohte
(3) Frank
(4) Rude

82. Optimistic-
(1) Optician
C,(ZJ/ Favourable
(3) Wishful
(4) Hopeful
83. Ambition-
(1) Expection
(2) Desire
/(‘37 Aspiration
(4) Goal
84. Drowsy-
(1) Soothing
(2) Lazy
(3) Exhusted
(4Y Sleepy
85. Exclusive-
(1) Extensive
_/{)/Sole 4
(3) External :

(4) Excessive
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Direction : In each of the following question, choose the most suitable “One word” for the
given expressions.

86. An office or post with no work but high pay.
(1) I:ibnoraw
(2) Sinecure
(B‘@is
(4) Ex-officio
87. Walking in sleep-
(1) Sorﬁniloquism

\/(Q)’Somnambulism

(3) Obsession

(4) Hallucination

88. A person who regards the whole world as his country-
(1) Patriot
(2) Nationalist

C/{Gﬂ:‘osmopolitan

(4) Metropolitan

89. One who totally abstains from alcoholic drinks-
(1) Puritan
(2) Samaritan

L}}Yﬁedant

(4) Teetotaller

80. Time after twilight and before night-
(1) Evening
(2) Dawn

_AX3) Dusk

(4) Eclipse
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Direction: In each of the following questions, a word has been written in four different ways out
of which only one is correctly spelt.

Find the correctly spelt word.
91. (1) Entreprenuer
(2) Enterpraneur

(3) Entrapreneur

/Gﬂ/E-ntrepreneur
92. ))A/Commission

(2) Comision
(3) Comission
(4) Commision

93. (1) Jewelery
(2) Jewellry
(3) Jwellry

Mwellery

94. (1) Argument
})ﬁguemant
(3) Argumant
(4) Arguement
95. (1) Forein
(2) Fariegn
(3) Foriegn
Mreign
96-100 Select the meaning of the given Phrases/idioms.
96. To give up the ghost-
(1) Todie
2}}0 make false appearance
L/(}}/’f o terrify others by acting in suspicious manner

(4) To leave useless pursuits
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97. To get into hot waters-
(1) To be impatient
(2) To suffer a huge financial loss
L/(})”ﬁ; get into trouble
] (4) To be in a confused state of mind
98. Toread between the lines-
(1) To concentrate
(2) Toread carefully

(3) To suspect

(})ﬂ’o grasp the hidden meaning

99. Alland sundry—

(1) Greater share
(2) Completion of work
L{/B)/Af of a sudden
‘ . (4) Everyone without distinction
100. French leave—
(1) long absence
(2) leave on the pretest iliness
Casual leave

(4) Absence without permission
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SAT - 2018

gug - |l
Part - llI
M afrel che SCHOLASTIC APTITUDE TEST
g 1%L | gi® : 100 Time : 1% hours Full Marks : 100
(wrif% &7 & gt 7= owafiar ¥G) 2 @ (For Physically challenged group 2 hours)
a3 R R INSTRUCTIONS FOR THE CANDIDATES
1. GUs o9 & fAwa a8l & 999 39 YR 1. Partlllis consisted of three subject groups
g containing questions as following :
(@) fasm= I, 101 ¥ 140 (a) Science Q.No. 101 to 140
(@)wmafors sags UE. 141 9 180 (b) Social Studies  Q.No. 141 to 180
(i) wrfore U¥. 181 ¥ 200 (c) Mathematics ~ Q.No. 181 to 200
2. 9t vy @ 9¥=i @ Sax T | 2. Attempt all the question from every subject.

3. 9D ¥ P A U 14 9 fdwea # ¥ 3. Find out the correct alternative from given
| fdpoy P W@ s P S«v-uaad  four alternatives for each question and

W Hel U Wen & 9 oy | write its number on your answer sheet
against proper question number.

4. 39 P ARV HIVT | 4. Please start your work.

Ha1— 39 ue yRad 4 3% & & AfdRad & N go 9 fafay |

N.B.— Do not write anything in the booklet except rough work.




SAT-2018

us—|li
(Part - 1l1)
fasm= Science
101. fY =T ¥ fagga gR1 & yare H3eRE @1 101. Opposition of flow of electric current is
0T Bl e called-
(1) far=R (1) Potential difference
(2) faega smaw (2) Electric charge
(3) ufaRrer _(3Y Resistance
(4) fazga @@ RO (4) Electromagnetic Induction
102. FyerfeiRae 3 Ry fory #1ea™ aiavad 102, Which of these does not require a medium~—
T 8- (1) Conduction

(1) (2) Convection

{2 pam | L/(ﬁyﬂédiation

Sl (4) None of these
(4) 379 & DI el ;
103, U AD FARD ) &1far 1 oiiex 21 89 103. Capacity of a measuring flask is 1 litre.
A § gHET A BI— what it will be in cubic centimetre—
(1) 1 =91 991 _ (1)1 Cubic Centimetre
(2) 10 =51 |HI (2) 10 Cubic Centimetre
(3) 100 &5 94 MOO Cubic Centimetre
(4) 1000 B I (4) 1000 Cubic Centimetre
104. 3R IO BT B— | 104. Noise is produced by—

(1) v el & ‘)J))vibration with high frequency
1 (HIql%l G| ;

(2) e &9 | (2) Regular vibration
®) [ 39 = (3) Regular and periodic vibration

(4) SreIq(a T SfFTech R W (4) Irregular and non periodic vibration
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105.

106.

107.

108.

gpra @ fever ofw @ P "W 105. A ray passing through which part of a lens
aruRafda fAderd! 8-

(1) wiHd
(2) aspar fBron

emerges undeviated—

(1) Focus

(2) Centre of curvature

Mtical centre

(4) between Focus and centre of curvature

feult wrerge ® ol Afewaw # 106. To convert temperature in °F into °C we use
F W ggen oIl 8-

3) wmif¥e fa=g

(4) wpw AR ghal = D dd 4

the formula-
£ oiGat FC=32

1V e ot
() 150~ 180 W e

5
(2) €=-(F-32)

2 /27/( = f)(r 32)
(3) F=5(c-32) (3) F:%(C—B?)

D 9
i ge arafae TewE § @ T 107. A swimming pool appears less deeper than
feaE <dr 8- its real depth— '
(1) WRIacE & BRI (1) due to reflection
(2) s & BRI _A2rdue torefraction
(3) avi fagigor & BRI (3) due to dispersion
(a) uredta faRemu & BRI (4) due to lateral displacement

v afie GHdel <9 § 4 Hex A A 108.A person is standing 4m away from plane
R el 2| guvr 3R ufafdw & g D mirror. Distance between mirror and

{?l - image is—

(1) 4 Mex (/(,?)/4 metre LLF":
(2) 8 Hex (2) 8 metre RAEE
(3) 2 #rex (3) 2 metre

(4) 6 MR (4) 6 metre
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100. @Ia9 @ fFEAEER, IR arell avg @1 109. According to law of floatation weight of a

IR &
(1) faxenfia g9 & WR & a_ER

(2) faxenfia ga & AT & aRTER

(3) farenfia ga & R | IS
(4) faxenfaa ga & R 9 &9

Jou uforly 8-
(1)402 ,1 0
210 .4 O
B 20 .2 Q
4)4Q ,4 Q

(1) 1
(2) 1
(3) 12 =er

)

(4) 24 ®eT

yfafav g=i—
(1) ®aa TH
(2) =1
(3) 3rT
(4) 377 & ®I$ T8I

113. X gfte I # ufafew a=ar &—
(1) M= a”
@)
(3) e & Giv
(4) e farg W

PNP-NTS-2018

floating body is-

Equal to the weight of liquid displaced
(2) Equal to the volume of liquid displaced
(3) Isgreaterthanthe weight of liquid displaced
(4) Is less than the weight of liquid displaced

110. 2 Q & < ufeki Avfishd 3R TR 110, Two resistance each of 2 ohm are con-
P9 H SeNT—3TelT Gire A | ufaxen &1

nected in series and in parellel separately.

Equivalent resistance is—
L/(ﬁ/ 400 .00
1O 4. @
(3) 20 .2 Q
4)4Q .4 Q

11, B B AHUS el GE BT IATDTA 8= 199, Time period of second’s needle of clock—

Y 1 Minute

(2) 1 Hour
(3) 12 Hour

(4) 24 Hour

112, T Had QU @ HEARG! ¥ & B 412, |f an object is placed between two plane

mirror,how many images will be formed-
(1) Only one
(2) Two
Lﬁ),mﬁnite
(4) None of these
113. In long sightedness images is formed-

(1) On Retina
_(2ythfront of Retina

\_)(B/ehind Retina

(4) On blind spot
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Kyl - A a4
114. f=feRad # oig< eggIda 8— 114, Unsaturated hydrocarbon among the
(1) g o following is—
( 1) Ethane
(2) #er ) Methane
(3) wrrel c/(Sf Ethylene
(4) o= ' (4) Propane
115, SFETGRAT B IMFATSS D UPHfd el o— 115, Nature of oxides of non-metal is-
(1) 3rira __(1)acidic
(2) (2) Basic
(3) el (3) Amphoteric
(4) SETAE -(4) Neutral
116, Yo Wiel U st eng & R @IE 116, Stainless steel is an alloy in which follow-
& e e & ing is added along with Iron—
(1) i (Sream) inc
(2) wifaH (2yChromium
(8) st L%)fm
(4 ) (4) Cuppor
117. F=foRaa § &9 ¥ gel § ¢ &7 % 117. Which among the following coal contains
Faifres &— highest % of Carbon-
(1) 9 (1) Peat
(2) facmTa (2) Bituminous
(3) RS ' _3) Anthracite
(a) for=rse (4) Lignite
118. ey fha s:-ng T 118. Most reactive metal is —
(1) Na | /0%
(2) Mg (2) Mg
(3) Cu (3) Cu
(4) Au (4) Au
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118.

120.

121.

122,

123.

i dm HCI & fehar | g+1a1 8— 119. Zinc and HCI React to form-

(1) H, L)y/nj

(2) N, ) N,
() co, (3) CO,
(4) He (4) He
{31 % ¥ P ST B B AT W 59 2~ 120. Which among the following non metal is
(1) T liquid at Room Temp-—
) 3l (1) Chlorine
@ : ,/(Zﬁ;mine
Sl (3) Mercury
(4) BrEBIRE (4) Phosphorus
P M Urg o7 Siel | AMBAT HB 121, Which metal forms hydrogen gas when
BIgSIoH I g9TCl 28— reacts with cold water—
(1) Na . i
2
@) Mg (2) Mg
(3) Fe
(3) Fe
(4) zn
(4) Zn . s
122. Thermosetting plastic is—
oI wifed 8-
(1) Polythene
(1) diefiefi=
(2) PVC
(2) do dro o ¢
(3) Beckalite
(3) sdenge
(4) e (4) Polypropene .
R = 123. Lens of Spectacles are made from—
(1) ﬂ_g'_,‘ aﬁa _\q (1) Soft Glass
(2) m ?ﬁuﬁf ﬁ‘ (2) Hard Glass
(3) URREE B A J’”{V"e" Glass
(4) fdcre ®ra A (4) Flint Glass
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124.

125.

126.

127.

128.

Fiery Ruaey 3§ fhar 2 8-
(1) @ faeveq

(2) T g

(3) Frafsm e Rkoe
(4) S9a ube

Fhexa Hut &1 Eid 8-

(1) ®raen

(2) Ugiferm

(3) wipfa® T4

(4) a&d g8 ol Bt FHoil

124. The reaction that take place in nuclear
reactor is—

(1) Nuclear fusion

(2) Nuclear fission

\_ﬁ) Controlled nuclear fission
(4) Double decomposition

125. Renewable source of energy is—
(1) Coal
(2) Petrolium
(3) Natural gas

%) Energy of flowing water

Pfewu BEIgS W Wl B 63 WA & 126 Calcium carbide when reacts with water

(1) M= 1
@) 39
(3) uforef= i

(4) gomgs

gives—

(1) Methane gas
(2) Ethane gas
(3) Ethylene gas
(4) Ethyne gas

BIER] ¥ gHR BT DTS 68 8- 127 What type of colloidal system is fog—

(1) =g 9 9
(2) 19 % w4
(3) ga ¥ ga

(4) 9 ¥ e

g ¥ e Ay Sifae T e 8-

(1) @ax
(2) ¥
(3) urferan

(4) Tufe®

PNP-NTS-2018

(1) Gas in liquid
‘(2/)Liquid ingas
(3) Liquid in liquid
(4) Solid in gas
128. ‘J’Vhich of these is not a viral disease-
(1) Measles
(2) Rabies

(3) Polio

¢ _4) Tuberculosis
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IRAG AT BIAT B

(1) WEH @ FA 9

(2) @rafeTgge @ FA A
(3) a1 @ HH U

(4) 377 &1 P18 &
ATeNdT YoTf 8-

129.

130

131

(4) 399 A BIg AL
fefafea § @ @ fad e |
afee 8-
(1) g &1 IRl
(2) SurfSta weron @ demfa
(3) siftaa @ forg wed %
(4) wrpfoe ag= gr1 Sfrdl @ IRy
argrerfl ¥ # SruRed TRIgH 8-
(1) TSRS
(2) U
(3) ufta=1
ORESE
S, Sfell & YRRETor H et ™ 8-
(1) WifgT FeiRIgS
(2) TRife® aivet
(3) wrgfem arat
 (a) Aifemm assive

PNP-NTS-2018

132.

133.

134.

129. Marasmus occurs due to—

._/f’ffProtein deficiency

(2) Carbohydrate deficiency
(3) Fat deficiency

(4) none of these

130. 'Sonalika’is a variety of—
(1) Rice

(S Wheat

(3) Maize
(4) Bajra
131. Blood cell without nucleus are—

’/ﬁ/(ed blood corpuscles
@)

2) White blood corpuscles
(3) Blood platelets

(4) None of these
132. Which of the following conclusion is
related to lamarck—
(1) Survival of the fittest
(2) Inheritance of acquired character :
(3) Struggle for existance
(4) Origin of specis by natural selection
133. Enzyme which is absent in pancreatic juice—
(1) Amylase
(2) Lipase
(3)}Pepsin
(4) Trypsin
134. Chemical used for preservating Jam and Jelly
15—
(1) Sodium Chloride
2) Acetic acid
(3) Citric acid
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135.

136.

137.

138.

139.

140.

feATer &1 AERT AH - 135. Retinol is a common name of—

(1) VitA (1) VitA
(2) VitB, (2) VitB,
(3) VitB, A VitB,
(4) VitC (4) vitC
R.N.A # rguferd &R 8- 136. Base which is absent in R.N.A-
(1) T (1) Guanine
() wEFa . (2) Ac/ienine
3 racil
E 4; ﬁ Liv(iﬁhiamine
wamr & A A iR ¥ 9 137. In maize plant the type of pollination is—
YHR Bl RETOT BT B~ - (_(1)8eifPolination
(1) ¥ 9RTTOT j {
(2) Pollination by air
(2) arg G
(3) STeT TRETOT _ (3) Pollination by water
(4) @Ie TR (4) Pollination by insects
e WU 8— 138. Most primitive mammal is —
(1) THTIES (1) BAT '
(2) T& (2) Rat

(3) @ LMIatypus
(4) Kangaroo

(4) BTH

PR 3 B aRae aoe T8 & 139. Which of the following is not a true fish—
(1) Rrear b . (1) Silver fish

(2) T =S /(Zf Sea horse

(3) gengT fber (3) Flying fish

(4) S (4) Eel

B.C.G uftRew frg a9 ¥ w9 @ 140. B.C.G. is a vaccine for which disease—
ferg & (1) Cholera

(1) & (2)Measles

EZ; g Cﬁi/:tanus

(2) P (4) Tuberculosis
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141.

142.

143.

144.

145.
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4T
gmrfoe A==

Frfe® Pl @ e § FrefeiRad & fisdy 141. In the early Rigvedic period, what was

Social Science

; . considered to be the most valuables
Heayyl Heaar Uil HS S & obe b
(1) qff @1 Land
(2) @ I (2) Cow
(3) arTet @I (3) Grains
(4) STet I (4) Water
HREfodyRT | v Hf*g} @1 4701 BRIAT 142, The Rath temples at mahaballipuram were
T - built by—
(1) a’]‘a‘t IR / Cholas
(2) qeordl gRT (2) Pallavas

: 3) Chedi

(3) SRt ET (3) Chedis
@) ¥ o (4) Chalukys
G & a9 Prel 3§ acd P ArGD DI AT— 143. ggzggsie ruler of ‘Vatsa' during the time
(1) =fer (1) Bodhi
(2) S&T Udayana
(3) waTI® (3) Satanika
OREES! (4) Nichakshu
T 9 s i @1 R &1 A1l 144, Who among the following called himself the
FaT AT— ‘Parrot of India’-
(1) 3R &4+ (1) Amir Hasan
(2) e (2) Jaisi
(3) 3R guxl (3) Amir Khusrau
(a) Bt L/pg\{aiza,z
yRrg ga® “Ma MA@ oGP 8~ 145, The famous book “Geet Govind" is written by~ .
(1) rada L)Wﬂa}yalv
(2) HeTedY aut (2) Mahadevi Verma
(3) SIOEiHR U (3) Jaishankar prasad
(4) wrfereTs (4) Kalidas

(45)
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146, HERM! SleHEs b1 STReel 8— 146. The birth place of Maharani Laxmibai is
situated at—
(1) arRToTA
(1) Varanasi
@) k! . (2) Kanpur
(3) gemrerE (3) Allahabad
(a) TaferR Mauor
147. S ¥ fPa gcae @ ‘FHoigy HEl T 9 147. Who among the following emperors was
called ‘Qalandar’'-
(1) Jrpax
(1) Akbar
(2) e (2) Jahangir
(3) wmesTEr \(3)Stahjahan
(4) SR (4) Babar
148, WRd # Yguneld o= fAefeRaa § 3 148. Who among the following were the first to
g B I— bring a printing press in India—
(1) 53 (1) Dutch
(2) st 2)-Hritish
(3) gefare! ~ (3) Portuguese
ORI (4) French
149. oGS H 1857 & fAsIE &1 Aged fBIT 149, Who was the leader of 1857 Revolt in
fopar er— . Lucknow-
(1) SiiFa wEw (1) Zeenat Mahal
(2) =T wTEY (2) Nana Sahab
(3) BulNd HEA &Hﬁzrat Mahal
(a) T g . (4) TantyaTope
150. “PHIHRTICTHIS FT AT— N 150. What was 'Kamagatamaru'-
(1) TP e (1) A ship
(2) sirenfie o= (2) An Industrial centre
(3) daxmE (3)A harbour
(4) &1 B TP CHA : (4) An army unit
PNP-NTS-2018 (46) Contd.
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151, oiee 3 sfoear =ew @) g @) o 151. India House in London was establised By—"

(1) TSR T aqf 3 (1) Shyamiji krishna verma
(2) e 3 (2) Bartullah
(3) faxws =1 FeeHEIR | (3) Virendranath Chattopadheyay
(4) SATeT BREUTA [/@W Lala har dayal

152, ¥FEY B A § i uRg B- 152. Who is famous as 'Deenbandhu’-
(1) fa=iar +ma Moba Bhave
(2) ¥flo Two TS (2) C. F Andrewz

J (3) Yo 3flo & (3) A. O. Hume

(4) 9R ArEAXHR (4) Veer Savarkar

153, ‘e He' @ Yo 3l - 153. ‘Anand Math’ was composed by—
(1) dfm o= @l W{anim Chandra chatterjee
(2) w&Te At " (2) Mahatma Gandhi
(3) @ gurE W (3) Swami Dayanand Saraswati
(4) RTPWT URHEH | (4) Ram Krishna Paramhans

154, ‘IpavTAT A feran— 154. Who wrote ‘Akbarnama—
(1) areqel 8 e (1) Abdur Rahim Khankhana
2) oo (2) Faizi
(3) o B Eﬁ'l'*i"ﬂ (3) Abdul Quadir Badauni
(4) S BT %ul Fazl

155. fAa=forRaa # 9 ®—w1 -qﬂf%.m 48] 2 155. Which one of the following is not correctly
_ i matched—
(1) el Wifd—He IcaTeH

| (1) Blue revolution - fish production
i (2) diet ifa—fiere SareH (2) Yellow revolution- oil seeds production
' (3) waa wifa—ar—fagd Sred «__(3¥WWhite revolution-thermal power pro-
: duction v

(4) 'Ra wifa—arer~ e
156. TR 3rafRRerd &—

(4) Green revolution-food grain production '
156. Nasik is located along the river—

(1) e 7 B fFR . (1) Narmada
(2) Tl 7€) & fHR (2) Godavari
(3) Y= AR B AR L37Penganga
(4) #rE 74 B PR (4) Mahi
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157.

158.

159.

160.

161.

IRA ¥ He¥ U fHw 5y # {xwt 157. In which one of the following states the

fragar - sun appears the earliest in India—

(1) freiE (1) Mizoram

(2) 3w (2) Assam '

(3) IrvUITEE YRS (3)Arunachal pradesh

(4) ATTTRIUE Lﬁ::galand

HRAT UTIEIY 31 9a9 $a dIdl 8—  158. The highest peak of Indian Peninsula is—
(1) ScHHvS (1) Oatakmund

(2) er=rg H MQZ)’ Anaimudi

(3) T qer (3) Dodabeta

(4) AETERIEER (4) Mahabaleshwar

Rifapa @1 wrorer 8- ' 159. The capital of sikkim is—

(1) SFRde (1) Agartalla

(2) o1 . (2)Imphal

(3) TTET® ,/(Gﬁa'nglok

(4) SeF TR : (4) Itanagar

fava S faas #9RI SIET 8~ 160, The world population Day is observed on—
(1) 4 3rercER Bl (1)4™ october

(2) 31 5€ @1 ‘ [ S2y31% May

(3) 10 fe=daR &1 . (3) 10" December

(4) 11 eE | (4) 117 July

f=feReaa d§ ¥ 99— fAvg @) way 161. Which one of the following rivers is long-
o T - : est in the world—

(1) et w/ﬂile

(2) mreT . (2) Amazon

(3) s=Iga (3) Brahmputra

(4) fAfafRmady (4) Mississippi
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162. ¥Rd A Gaifties S HT ScaTe+ Ul 8l 8— 162. In India highest production of Jute comes

166. farcm ool srafkerd 8—

(4) anfeem 4

PNP-NTS-2018

from-

(1) 9R¥=m e |
2) 3T o - (1) West Bengal
E ) & L%)‘vﬁ::ndhra Pradesh
3) HERI&,
5 (3) Maharashtra
itz | (4) Rajasthan
163, WA § ER A W el 8- 163. Where are diamond mines in India—
(1) Blc® &ﬁ Karnataka
(2) 79 USH (2) Madhya Pradesh
(3) SR y=¥ (3) Uttar Pradesh
(4) afferTg (4) Tamil Nadu
164, BER P I 3B ATHT ST Bl 8— 164. The largest quantity of saffron is produced
(1) STR wew A £
_ (1) Uttar Pradesh
(2) ®TEIR H :
(2) Kashmir
(3) ot | (3) Kerala
(4) mar # ol ) Goa
165. gedl @1 goiv fAfeRaa # & AT 165. Which one of the following is caused by
BRI B— the rotation of the earth—
(1) SaR #eT (1) Tides
(2) &g gRad+s (2) Change of season
(3) f&=1 ga ¥« [/(Hf Day and Night
(4) w&T (4)Eclipse

166. Chilika Lake is situated in—

(1) Punjab

(2) Assam

(3) Tamil Nadu

¢ _(#yOdisha
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167. DI e A g & wafdd 8= 167. Which city is dedicated to Lord Shiva—
(1) === (1) Mathura
(2) g (2) Puri
(3) sratear (3) Ayodhya
(4) T RE aranasi
168. Rerd de 3ifw gfsan o1 frrers Rerd 2 168, The Headquarter of Reserve Bank of
(1) fecoh India is in-
(2) Hag # ))\:Q/ elhi
bai
() IR L/(;)/M’ mbai
(3) Nasik
(4) PTG (4) Kanpur
169. S ST AT R T £ 169, National Dairy Research Institute is
% established at-
(1) &A1 |
(2) R # L
b ) Hisar
(3) g 4 ( ) Rvons
(4) SUgR # (4) Jaipur _
170. 9o H 9RA @ Useufy 8- 170. Who is the present president of India—
(1) 3 gvrg gl (1) Sri Pranab Mukerjee
(2) # vy Rig (2) Sri Rajnath Singh
(3) =it I Bifde C)S)*Sri Ramnath Kovind (704
(4) Y TMarer ey Aty (4) Sri Gopal Krishna Gandhi
171, 9RAIA WG &1 S |1 917 Aniedr 171, Which part of the Indian constitution deals
¥ wefed 8- with citizenship—
(1) P11V (1) Part IV
(2) W NN ﬁm”
(3) wTT |
(3) Part |
(4) s Il
(4) Part i
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172. fFreifeRaa & P19 A1 HIRCT 3ifgaveAT 172, Which one of the following is the major

BT UG T o feature of the Indian economy-
(1) Yohard) arefarazen (1) A capitalist economy
(2) wHTTaTEY Sreferaven (2) A socialist economy
(3) B siefarawer . 37 mixed economy
(4) SR H & BIg B (4) None of the above
173. Y Aagrar g wART S 8~ 173. National voter day is celebrated on—
(1) 15 ST DI _ _ (1) 15" january
(2) 25 S=TENY DI © (2)25"january
(3) 15 WRad @I L/mﬁ“ February
(4) 25 HRA B | (4) 25" February

174, ARG Hfer 1 e # | ®IF—WT 174, Which one of the following Articles of
FEsq TRa @ facw Afd @ wefe 8- Indian constitution is related to Indian

() 3‘"1’6‘33 . foreign policy—
(1) Article 51
il (2) Article 60
(8) srgess 5o | A8 Aticle 50
(4) g8 380 ; (4) Article 380
175. gErd) N |ffaferd 8- 175. Panchayati Raj is included in the—
(1) dg gAr # (1) Union list
(2) FHacht el 4 (2) Concurrent List
(3) wroy g (3) State List
(4) araf¥re = A );rYR/essduary List
176. IISTHAT B WG B BEAGIA €T 8 176, The tenure of Rajyasabha member is—
(1) 5 ¥ (1) 5 years
(2) 6 ad (2) 6 years
(3) 3 a9 (3) 3 years
(4) 4 o (4) 4 years
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177. FWdedo W THafa Rl wiwen 28— 177. International Institution related to labour

welfare is—
1) g
(1) (1) UNICEF
(2) 3o Tw0 30 /@“_o
(3) T®0 To 3o 3) FAO
(4) ¥o T=o €Yo (4)C.N.T
178, 'WEITFTHAN SITATH TSI T 3R {54 a¥ 178, |n which year was the ‘Pradhan Mantri
¥ gar— Awas Yojna' launched-
(1) 2012
(2) 2014 ) ) 2014
(3) 2015 6‘?) ) 2015
(4) 2017 ) 2017
179. STRIEVS WU & WGl g~ 179. Uttarakhand State was created in-
(1) ¥ 1999 # LMe year 1999
e i
(2) & 2000 # ?ﬁqﬂhe year 2000
(3) & 2001 H 3) the year 2001
180. ‘RfeT sfear & oas 8- 180. Who is the author of ‘Rebooting India’-
(1) R *ex (1) Shiv Nadar
(2) e R (2) Sundar Pichai
: (3) Nandan Nilekani
(3) g HArerapoft
L/(ﬂétya Nadel
(4) e ArSe
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181.

182.

183.

184.

Tg Maths

(x* +4_r‘) &I qof quf S99 & g Be1 181, To make (+* +4p*) perfect square we

2N TT— have to subtract—
(1) 4xy L)})ﬁ 45

@), 22°x eligre

(3) 2 (3) 2y

(4) 2522 (4) 4y’

T GHBII fBrpor @1 ke 24 It & 182. The perimeter of a right angled triangle is

afe 5 @t 9 Wg 10 A £ A = 24 cm. If its hypoteénuse is 10 cm then
area of this triangle is—

Bryst &1 83w 8-

(1) 24 g7 F A2 em?

(2) 10 T A ) 1910 g &
(3) 12 T (3) 12 cm?

(@) 48 a7 | 4) 48 om®

frfefad § 10425+ 121 @ 919 28— 183. Valueof /404 /25+ 121 inthe followingis-

(1) 5 (1) 5
(2) 3 ) 3
(3) 4 : @3ya’
(4) 6 (4) e

afe favg (1,2) (3, 5) Td (0,) WY B 184. If points (1,2), (3,5) and (0,b) are co-

L/

al b &1 |19 8— Iinealr thenvalue of bis=
o) 1 A3
@) 7 () % ﬂ/
2 3) 2 /
@3) 2 (3) gL
(@) -1
@) -1
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185, Fr=ifafag afor@ § 9 g ) ‘118__5_. A polynomial in the fbllowing is—

186.

187.

188.

(1) 722 =5x +5 (1) 72 “syx 445
2) 2 -2141 p/@/ﬁ—zm

(@) ¥-= o

(4) \EJ(-SJ_._I (4) |y +5y-1

af2 U v Ud U o @ Bisuid 2 : 3 @ 186. If the radii of a cone and a cylinder are

; e in the ratio 2 : 3 and their heights are in
ST A ' IR S DRI the ratio 4 : 3 then the ratio of their

413 % T 3P ARTHT BT AT BT volumes will be-
(1) 16 : 27 (1) 16 :27
(2) 16 : 81 M - 81
(3) 16:9 (@) 16:9
(4) 27: 16 (4) 27:16

TS SRAIGR $ITS B gdel ol 187. Arectangular piece of paper of length 20
TS 20 [ TT ASE 14 WA B, AISE cm and breath 14 cm is folded about its

3 uRa: wier iar g1 39 yeR Afia breath the curved surface area of the cyl-
doI & THYS 28— inder so formed is-

(1) 180 ¥ (1) 180 cm?

(2) 200 TP (2) 200 cm?

(3) 280 WY L/(a')ﬁao cm?

(4) 190 w#Y? (4) 190 cm?

IfE Ta HIVT AU TR BIVT BT 5 AT 188. If an angle is five times its supplementary

2 O I8 DI B angle then the angle is—
(1) 75° (1) 75°
(2) 150° /ﬂu
(3) 144° (3) 144°
(4) 40° (4) 40°
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189, AR (v-1) GBUE 3 ju2 4 Ix—6 DI U 189. The value of K for which ( x—1) is a factor.:-

TGS & a K &1 719 8 of the polynomial P T g i
‘ (1) — 6 ()=
@) 5 (2) 5.1
(3) 2 (3) 2
@) 6 AT 6
190. e fegaw B 4§ o 190. Ifin the given figure
. AR AR . e, O Al
BT {11 28— B of v is- 4
g (1) 90° 5 g B (1) 90° o e - B
(2) 50° (2) s0°
(3) 20° /43')/20“
(4) 40° (4) 40°

191. af A ABC UF 3@ H Brror 2 191. If A ABC is an obtuse angled triangle in
e /C— 110" @ fe:p;@'@ﬁ 3 H Fh which ¢ =110° then which one of the

T UE YT T B foflowmg is true- ¥
(1) AB=AC ) AB= Ag
(2) AB<AC ) AB<A i
(3) AB>AC ADRA
(4) AB<BC ) AB<BC
. 192. If |1 50 I S | A 59 9IR d[eT 192. The number 50 is divided into two parts "L\/,
a1 g & 7 gopdl & 9 — @l such that the sum of their reciprocals is =5 3
12 l §\'| L
q g 91T 8- o ,‘k— 5 then these parts are— \ 3’]/
-0 . | Sie
(1) 30 3i¥ 20 /L_s CER = and_20 - 70 ( ;
(2) 10 3R 40 (2) 10 and 40 %0 A /é/ L
, (3) 25 3?? 25 (3) 25 and 25 b
(4) 15 31R 35 (4) 15 and 35 ,
Sind+ CosA .
193. AR scosA-12Sind=0 @ 3Cosd—Sind PT193. Given  scos4-128imd=0 evaluate—

4 ST aﬂ'ﬁm—" \ml (m]

9 ‘( u\(! Sind z
(1) Ol

IZ ( 5 103
(2) 1-:_) C% ‘ /"./ >

| ; G
(4) 1 (4) 1 Iy
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194.

195.

196.

IS5 [ )
197. AR 5p _ 79 — 357 ?fﬁ;*;*; B A & 197.1f 57 -

Ja+x++a B

o o " 2— J;%—Ji_b 194. 'y in the following is Et (—a =b
0 2 - 0

2ab g - Ty, -
(2) o ;, \ﬁrﬂ-i;—h (2) a*b ?éw

a+o b
(3) ok V(})/;b 24?6
() £ @ 2 ALY

2ab

TS log 3|_I0g y (log % }J= 0 Tl x PTAM & 195. If log, ltag ; (Iog 2 )J: 0 then the value of x

(1) 16

is-

e

64

(2) 8
(3)

(4) 32

UF BN @I GHA ST 8000 ® | 196. The present population of a city is 8000 if

gfe gorm ¥ ¥ g9H 10% B gfE SR
facira ¥ % g6 20% gfE B & < <1
a8 g S 8nfl-

(1) 12400
(2) 14400
(3) 10560

(4) 3T §-PIE el

@ 3

PNP-NTS-2018
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it increases by 10% during the first year
and by 20% during the second year. then
population after two years. will be—

(1) 12400

(2) 14400

.Vcaa)/msso

(4) None of these

=135 then Value of ARTT
¢ =35~ then Value of —+—+— is-
79 =35 P g r

()1 Ty =
@) 1

(3) o %7

@)

1o | W
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198.- ford) =e1 @ Tds | 100 MeX Sare ux 198. The angle of elevation of a cloud from a
Rera s ﬁ% ¥ &Y aree o1 S99 point 100 metre above the surfa\c\:e of a
o7 30° 3R U A s ufaf @1 lake is 30° and the angle of defression of

0
STTAT BT 60° T 7T | e B GaAw its image in the lake is GQ then height of
the cloud above the lake is-

q 95 B S o

(1) 100 #¥ (1) 100 m. Epy
(2) 50 # (2) 50 m.

(3) 200 # - ‘ &260 m.

(a) 150 (4) 150 m.

199. 8 B ® [P WIF @I AMA (A1) 199, The mean height of group of 8 students is

Sarg 152 A & | < B, RFe! e 152 cm. Two more students of heights 143
HHI: 143 WA T 156 T &, 3R AT S c¢m and 156 cm join the group. The new
2| 39 YBR THE &1 74T ARy (3) mean height of the group is—

(1) 1515 '@ti?r Lysw %

(; 'ﬁ (2) 115 cm

2) 115

(3) 152 & i ki
) 200 80 (4) 200 cm

200, afR OE-L 2, Oief p @ q gReR g 200. If 03*— wherepandqare relatively
TS W 2 ar q BT | 2 prime mtegers theri value of qis—
(1) 10 (1) 10
(2) 3 W= ‘ZL{) ()-8
5) 1 [ow = b > (3) 1
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